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(a) Write your Roll No. on the top immediately
on receipt of this question paper.
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(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.
= g99-9F T Ia} oiden a1 fELY RRUT oF
o § i, AfeT AWl SO o6 & AT A
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(c) This paper consists of 8 questions.
=@ J99-95 H S 997 Tl
(d) Answer any five questions.
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(e) The marks of each question are Written
. uestions.
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1. (a) *A fall in the infant mortality rate will bring
down the fertility rate in a society.” Discuss,
- 7
‘T T 3 1919 T ST H PREe o= o 5
FH RGN I DT |
(b) Suppose that Rakesh and Sheela are the
heads of a nuclear family, making their
fertility decisions. For simplicity, assume
away gender bias and issues of child survival.

The following table details the costs and

benefits (in rupees) of different numbers of
children :

AT FITY o6 3har <fiT e oo SREm] aian &
TIE €, Sl ST T 17979 R oA & 1 A B
0, ST Jafe ofit qeg & ofiae & g8 o3
TG | i arfer § R =t @ arw
AT ST (S99 5) oy fereror ferar 7y & -

Number of Total Benefits | Additional Cost
Children | o1 e sAfie @
a=al S g %) (%)

One 500 100

U5

Two

2 750 100
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Three 840 100
9=

Four 890 100
EIES

Five 930 100
qrer

Six 950 100
1)

Seven 960 100
LG

Eight 960 100
IS

(1)

(i1)

Based on the information in the table, how many children

would Rakesh and Sheela have in order to maximize their
net benefit ? 2

e § & T TR B ST W), T AT
?

Now consider another identical nuclear
family with Mohan and Rita as the heads.
Rakesh and Mohan are brothers and the two
couples form a joint family. Both couples
have exactly the same costs and benefits of
having children as in the table. Now suppose
that 50% of the cost of upbringing of each
child can be passed on to the other family.
Each couple’s decision is independent of the

. other couple, and is based only on its own

welfare. Now how many children will each
couple have ? 3

3 P.T.O.
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(iii) Does the fertility choice differ in the above

cases ? Explain. 3
T SGAIeH ATl H I B THE STET-STe
oIS 2@l

2. Briefly discuss the Harris-Todaro model of rural-
urban migration and explain any one policy that

moves an cconomy towards an efficient labour
allocation. 15
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(a) In the PTesence of information asymmetry
between lenders and potential borrowers in
:the Informal ryra] credit market, only the
sale’ borrowerg may drop out of the credit

market if interegt rates are too high. Explain
Your answer. 6
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(b) Show diagrammatically, that in casual labour
markets, both workers and employers are
at a disadvantage - the former duc to low
nutritional status and the latter due to hiring
of low productivity labour. 9
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(a) Show that in an economy with extensive
possibilities for perfect crop insurance, fixed
rent tenancy must be dominant, irrespective

of whether the potential tenants are risk-
averse or nsk-neutral : 9
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(b) The following tab!ﬂ BIVES default risks for
various loan sizes in an informal myra) i
market. Suppose that the rate of interest in
this market is 18% per year, and that in =
formal sector (with no default) 10% per year.
Py aifere S AT T A F R
oo ATt & R TP (BT ) SR et ey
T | 97 ST R § TN 5 ST 31 o ad 18% &

31T ofrqentiss 4 J (STET B < 78 10% Sy et |

Loan size Loans defaulted
T HATHIT T g

) - (%)

20-99 O

100-149 - ' 10

150-199 20

200-249 2D

2350-300 .30

>300 50

(i) Calculate the maximum loan size that will

be offered in the informal rural credit ‘
market.
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(i) For what minimum rate of interest will loans
in the ¥ 250-300 category be offered? 6
250-300 X it 3roft & srror =zt 2 Reat =g
& 9 ear s 2
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S. What is the rationale of environmental
regulation ? Why do prescriptive regulations
dominate environmental regulations worldwide,

even though economic incentives are considered
preferable ? 15
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6. (a) Provide one explanation of interest rate
determination in rural credit markets when
the default probability is independent of the
amount to be repaid. Further, discuss the
factors which are likely to affect the
repayment probability of a loan extended in
a rural credit market. 9
ATHTOT =0T AR H =797 &7 FIaieT 5 o =reEr
SIET Y 5T I (FEpiee) WTean It o are
A I WE BT & | D ST, IF I IT
I HE Al AHIOT 70T IR 5 i o &5
AT GHTEAT 1 ST e T & |

(b) Explain how, among the poor, inequalities
in the asset market magnify into labour
market inequalities. 6
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7. How did the tremors of fault lines work in the
US financial sector to nearly destroy it in the
year 2007 ? Suggest rcfﬂrms.in the US financial
system which might minimize the detrimental
effects of a crisis in future, on the world economy ?
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8. Discuss the processes through which global
economic integration affects the condition of the

poor in developing countries. What measures
could help the poor ? 15
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